3.5 Slope Intercept Form DAY ONE with work Earned Notes

Algebra 1: 3.5 Slope-Intercept Form of a line
y=mx+b

Essential Question: How can you describe the
graph of the equation y = mx +b?

Learning Objectives:

« The student will find the slope of a line

« The student will use slope-intercept form of a line

» The student will use slope and y intercepts to solve real-life problems
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Slope is the rate of change between any two 1,7 7 7 7 1
points on a line. It is the measure of the ' 1171
steepness of the line. B | A 11
To find the slope of a line, find thel@of the -4 WAE
change in y (vertical) to the change in x >
(horizontal). -2 7 siope = |
) [ 2 g & :;
change iny _
slope = _ 2Y Y,y
change in x AX _X——_ﬁ
Xy
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Earned Notes

The Slope of a Line

C) Core Concept

A Slope
% The slope m of a nonvertical line passing

TP & _ changeny _ 91—
rise _ changeiny _ ¥

slope = m = -
run change in x X,

X N
/ When the line rises from left to right,
N from left to right, the slope is negative.
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Example 1.

m= L
X _,x (3, 2
2 l 11— “i
-2 2
When finding slope, you w\ — _ 3:.
can label either point as \ N/ - 3
(%, ¥, and the other point [T]

as (%, v2). The result is

{ the same.
>

SOLUTION
a. The line rises from left to right.
So, the slope is positive.
Let (x;. v,) = (—3, —2) and
['TI? _"2.’ = t3- 2

Ya7h
m=
[ D XX

In the slope formula, x, is
read as "x sub one” and y,
is read as "y sub two.” The
numbers 1 and 2 in x,; and
¥, are called subscripts.

el e
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(0,2) * Z
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(2, - -
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h. The line falls from left to right.
So, the slope is negative.
Let (x;. ¥;) = (0, 2) and

(X3, ¥2) = (2, — 1.
Vi—¥W  —1—-2 -3 3
mE Ty 2-0 2 12
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Your Turn:

Describe the slope of each line. Find slope by
counting. Then verify the slope with the slope formula.

1L T T T YT

11, 1]
I AR
"~

—4 -2 2 x

describe: 1 {Sod;;%

counting:

formula:

L~
"

3. ¥ '[ |
N .4
[

X

s
1 3x {2 3)

Q?"))”' &

4
describe: Posdwf, S\DPL describe: P‘i‘g%
cou ntlngm: 3

|
B

N R
counting: v, = o

Earned Notes

3 formula:
DR '

formula: y—
—_—

3~@9 A

z
3
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The points represented by each table lie on a line. How can you find the slope of each

line from the table? What 1s thg alope of each i H’/
a \;‘; X T
x|y y X | y \ [N

4 20 1 2 -3 -
14 ‘ 1 2 >
=31 0
10 8 i 302 O 3| 6 -k
13 2 5 2 3| 9 A4 3 v

wndthineal \molcf«he()\

YlE
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Your Turn:

The points represented by the table lie on a line. How can you find the slope of the

line from the table? What is the slope of the line?
. <2 2 -2 0 o 0

x| 2| a6 |8 Sl 5[ s |5 ]|s
y| 1015 20|25 y —12| 9 | =6 | =3

-5 -5 -5 -3 -3 3

Mm=

3.5 Assignment
pg. 141 Slope
A&B:1,2,5-14

Ay 3
DX~ 0«

Earned Notes

N
e}

C:1,2,5-12

Concept Summary
FPositive slope Negative slope Slope of 0 Undefined slope
¥ ¥ ¥ ¥
/0} Ol \ D D} l x
The line rises The line falls The line is The line
from left to right. from lefit to right. horizontal. is vertical.

|

Count & Verify

with the formula.
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